
6103 6103.5 6104 6104.5 6105
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

6380

6380.5

6381

6381.5

6382

6382.5

6383

6383.5

6384

ru
n

run:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6382}



6103 6103.5 6104 6104.5 6105
cyclenum

103−

102.5−

102−

101.5−

101−us
l_

1X

usl_1X:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

1.5−

1−

0.5−

0

0.5us
l_

4a
Y

usl_4aY:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

48.5

49

49.5

50

50.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

20.2

20.4

20.6

20.8

21

21.2

21.4

21.6

21.8

22

22.2

22.4

us
l_

4e
Y

usl_4eY:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

42.5−

42−

41.5−

41−

40.5−

us
l_

12
X

usl_12X:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

6380

6380.5

6381

6381.5

6382

6382.5

6383

6383.5

6384

ru
n

run:cyclenum {run == 6382}



6103 6103.5 6104 6104.5 6105
cyclenum

168−

167.5−

167−

166.5−

166−us
r_

1X

usr_1X:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

0

0.5

1

1.5

2

us
r_

4a
Y

usr_4aY:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

236

236.5

237

237.5

238

us
r_

4e
X

usr_4eX:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

15.6

15.8

16

16.2

16.4

16.6

16.8

17

17.2

17.4

17.6

17.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

47−

46.5−

46−

45.5−

45−

us
r_

12
X

usr_12X:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

6380

6380.5

6381

6381.5

6382

6382.5

6383

6383.5

6384

ru
n

run:cyclenum {run == 6382}



6103 6103.5 6104 6104.5 6105
cyclenum

31358.2

31358.4

31358.6

31358.8

31359

31359.2

31359.4

31359.6

31359.8

31360

31360.2

31360.4

us
l_

co
il1

usl_coil1:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

6197.5

6198

6198.5

6199

6199.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

4443.2

4443.4

4443.6

4443.8

4444

4444.2

4444.4

4444.6

4444.8

4445

4445.2

4445.4

us
l_

co
il4

usl_coil4:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

1285.5−

1285−

1284.5−

1284−

1283.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

16584.5

16585

16585.5

16586

16586.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

6380

6380.5

6381

6381.5

6382

6382.5

6383

6383.5

6384

ru
n

run:cyclenum {run == 6382}



6103 6103.5 6104 6104.5 6105
cyclenum

27438−

27437.5−

27437−

27436.5−

27436−

us
r_

co
il1

usr_coil1:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

5413.4−

5413.2−

5413−

5412.8−

5412.6−

5412.4−

5412.2−

5412−

5411.8−

5411.6−

5411.4−

5411.2−

us
r_

co
il3

usr_coil3:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

4577.6

4577.8

4578

4578.2

4578.4

4578.6

4578.8

4579

4579.2

4579.4

4579.6

4579.8

us
r_

co
il4

usr_coil4:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

789.5−

789−

788.5−

788−

787.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

20856.2

20856.4

20856.6

20856.8

20857

20857.2

20857.4

20857.6

20857.8

20858

20858.2

20858.4

us
r_

co
il7

usr_coil7:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

6380

6380.5

6381

6381.5

6382

6382.5

6383

6383.5

6384

ru
n

run:cyclenum {run == 6382}



6103 6103.5 6104 6104.5 6105
cyclenum

442−

441.5−

441−

440.5−

440−1X
_c

oi
l1

1X_coil1:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

70.5−

70−

69.5−

69−

68.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

19.5

20

20.5

21

21.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

473.5−

473−

472.5−

472−

471.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

89−

88.5−

88−

87.5−

87−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

18.5

19

19.5

20

20.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6382}



6103 6103.5 6104 6104.5 6105
cyclenum

174.5

175

175.5

176

176.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

35

35.5

36

36.5

37

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

7−

6.5−

6−

5.5−

5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

184.6

184.8

185

185.2

185.4

185.6

185.8

186

186.2

186.4

186.6

186.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

27.5−

27−

26.5−

26−

25.5−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

5−

4.5−

4−

3.5−

3−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6382}



6103 6103.5 6104 6104.5 6105
cyclenum

237−

236.5−

236−

235.5−

235−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

82.5−

82−

81.5−

81−

80.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

7.4−

7.2−

7−

6.8−

6.6−

6.4−

6.2−

6−

5.8−

5.6−

5.4−

5.2−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

5

5.5

6

6.5

7

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

430−

429.5−

429−

428.5−

428−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6382}

6103 6103.5 6104 6104.5 6105
cyclenum

6380

6380.5

6381

6381.5

6382

6382.5

6383

6383.5

6384

ru
n

run:cyclenum {run == 6382}
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